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XASEIODEI HOU L.P.MODEL

DIMENSIONRA (101) ,A(20,4) ,AM(21,20) ,AMM (2

+1,43)
NN=0'

358 READ(S5,359) ((AM(I,J)
+(N),N=1,101)
FORMAT (8F10.0)
NN=NN+1

DO 736 JA=1,19
JC=Ja+1

DO 736 JB=JC,20
18=1

DO 400 I=1,21
DO 400 J=21,43
AMM(I,J)=0.0
CONTINUE

J=42

DO 600 -I=1,20
AMM (I,J)=24.0
CONTINUE

DO 510 I=1,21
J=I+20
AMM(I,J)=1.0
CONTINUE

Do 727 I=1,21
Do 727 J=1,20
AMM (I,J)=AM(I,J)
CONTINUE

Do 737 J=1,20
DO 737 I=1,21
IF (J-JB) 751,737,751
IF (J~JA) 753,737,753
AMM (1,J)=0.0
CONTINUE

J=43

DO 50 I=1,21
AMM (I,J)=10%*10
CONTINUE

W=AMM (21, 1)
1=21

DO 2001 J=1,40
V=AMM(I,J)

IF (W-V)2001,2001,2002

W=V

CONTINUE

DO 2035 J=1,40

X=W-AMM (21,J)

IF (X)2035,2036,2035
CONTINUE

J1=J

DO 7020 I=1,20

E=AMM (I,J1)

IF (E)7020,7020,7010

AMM (I,43)=AMM(I,42)/E
CONTINUE

W=AMM(1,43)

J=43

DO 3006 I=1,20

v=AMM(I,J)

IF (W~V)3006,3006,3007

W=y

CONTINUE

DO 3045 I=1,20

Y=W-AMM (I, J)
IF(Y)3045,3046,3045
CONTINUE

IF (W) 8000,538,3046

Il=1

AX=AMM(I1,J1)

IF (AX) 538,538,267

AMM (21,31)=0.0

GO TO 191

D=AMM (I1,J1)

DO 6070 JJ=1,42

AMM (I1,JJ)=AMM(I1,JJ)/D
CONTINUE

DO 6080 II=1,21

F(I1-II)6090,6080,6090
W=AMM (II,J1)

DO 6095 JJ=1,42

AMM (TI,JJ)=AMM (IT,JJ-AMM(I1,JJ)*W

,J=1,20)
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CONTINUE
CONTINUE
DO 658 J=1,40
AK=AMM (21,3}
IF (AK) 325,658,658
KA=KA+1
CONTINUE
JJ=1
F=AMM(21,JJ)
IF (F)58,54,54
JJ=3J+1
IF(JJ3-40)57,56,57
GO TO 59
GO TO 55
J=JA
po 801 I=1,20
APl=pMM (I, J)
IF (AP1-1,0)801,802,801
CONTINUE
RA(IS)=0.0
IS=IS+1
IF (J-JB)803,809,803
J=JB
GO TO 805
DO 807 IX=1,20
IF (I~1X)806,807,806
AP2=AMM (IX,J)
IF (AP2)804,807,804
CONTINUE
RA (IS)=AMM(I,42)
I1S=I8+1
GO TO 808
AMA=AMM (21,42)
ALS=21-NN
SL=5.0*ALS
EA=(AMA*100.0)/ (RA(1)+RA(2))*SL
WRITE(6,638)JA,JB, (RA(IS),IS=1,2) ,AMA,
+FA
638 FORMAT (1H+,1X,I15,1X,I5,E11.3,3X,E11.3,

+3X,E11.3,3X,E11.3,/)
736 CONTINUE

IF (NN-6)358,358,8000

8000 STOP
END
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